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uksV& lHkh iz'u gy dhft,A
Attempt all questions.

1. izkFkfed laed ls vki D;k le>rs gSa\ izkFkfed o f}rh;d leadksa esa vUrj crkb;s rFkk la{ksi esa

izkFkfed leadksa dks laxzfgr djus dh fofHkUu jhfr;ksa dh O;k[;k dhft,A 17/20

What do you mean by Primary Data ? Distinguish between primary and

Secondary data and discuss in brief the various methods of collecting primary

data.

2. fuEu leadksa ls 4-o"khZ; py ek/; nh?kZdkyhu izo`fŸk Kkr dhft,μ 17/20

From the following data find out 4-yearly moving average secular trends—

o"kZ (Year) bdkbZ (Output (Unit)

1991 464

1992 515

1993 518

1994 467

1995 502

1996 540

1997 557

1998 571

1999 586

2000 612



3. fdlh lqMkSy flDds dks fdruh ckj mNkyk tk, ftlls fd de ls de ,d fpŸk vkus dh izkf;drk

87.5% gks\ 17/20

How many times a fair coin be tossed so that the probability of getting at

least one head is 87.5% ?

4. Hkkjr esa fdlh jkT; dh tula[;k 331 yk[k gSA lk{kj iq#"kksa dh la[;k 66 yk[k vkSj iq#"k

vijkfËk;ksa dh la[;k 33 gtkj gSA ;fn lk{kj iq#"k vijkf/k;ksa dh la[;k 6 gtkj gks rks lk{kjrk vkSj

vijk/k&izo`fŸk esa xq.k lEcU/k Kkr dhft,A 17/20

The male population of a certain state in India is 331 lakhs. The number of

literate males is 66 lakhs and the numbers of male criminals is 33 thousand.

If the number of literate male criminals is 6 thousand, calculate the

coefficient of association between literacy and criminality in the state.

5. izlj.k fo'ys"k.k dh ifjHkk"kk nhft, vkSj blds egRo dk foospu dhft,A bl fo'ys"k.k esa iz;qDr

gksus okys ,Q&xq.kkad dk vFkZ Hkh le>kb,A 17/20

Define the analysis of variance and also discuss its importance. Also explain

the meaning of F-coefficient used under this analysis.
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